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GLASSIG GAR
INSURANGE?

® THE HARD WAY

Ring an insurance broker that’s not Hagerty.
Spend half an hour explaining why your
classic isn’t just “an old banger”.

D Politely decline home, pet and travel
insurance. Patiently explain that you only
need agreed value classic car insurance.
To get off the phone, promise to get a
quote for your home “in the near future”.

] Go out to the garage, pull off your car’s
cover, snap several photographs. Email
photos but hear back that “the photos
are too dark” or “we need six and you
only sent five”.

] Cough up a £15-50 “certification” fee,
on top of your policy premium.

D Wait on hold half an hour while their staff
reviews the information. Lose the connection.
Ring back, get transferred to three
wrong departments. Get put on hold again.

[] The Agreed Value certification finally
arrives. You begin looking forward to
repeating the entire tedious, maddening
process, fee included, if you want to
increase your value again.

/ THEEASYWAY

[] call Hagerty. 0333 323 1383.

[:] Go for a relaxing drive.

HAGERTY.

CLASSIC CAR INSURANCE

HAGERTYINSURANCE.CO.UK
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